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Solve Systems of Equations and Inequalities Study Guide Date Period:
s (2,3) a solution to the following systems of equations. _

4. X4y =9 b, 4x =2y =2 ‘E(éé} C. X—5=y 2,,6-_-3
2x—y=5 3x+y=9 23y =12 g 2
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Create a system of equations for each system to have the follé)wing type of solution.

a. infinite b. no solution ¢. one solution

y=4x-9 =-5x+6 y=x+t3
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Solve a system of equations by graphing? Classify each system.

a. y=-2x+7 b. x+y=5 5:-)(4—5
¥ 2%—3 (6 l) y=-x—3
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Solve a system of equations by substitution? Classify each system.

a X+y=5 W . b, 2x-y=3
y=2x-3 3 =l X \+Z
o S A

'3%-3""3 .L‘!o 3_ 2\/+4_-y:3

i2) -< e

one Soludian




Solve a system of equations by elimination? Classify each system.

b, AXTy=B _ b4 {4x + 3y =20) 4(2)t8dy= 20
2 (2x +y=6) 3(9x -4y =2) %{_.6\!: 26 "
“4yt2y=12 lox +12y=8D = 12
0#20 AM-1gy=le = |
No olukion AHx > Bl =
Theonsistent @ U—:"’) e Spluctfon
Consistent
g, 2x+3y=12 d.2(3x—y:8)
2%+ Iv==0 + ~éx+22y=-{i
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Without graphing, determine whether two lines are consistent or inconsistent.

a.2(3x74y: 28} b. Giventheliney=3x+35

-6x + 8y =32 Give an equation so that the
. ‘ system 1is
wmeo ns |5+Qn+ Tk consistent B = -3ytb *
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Write a system of equations to solve a problem.

a. Two different families bought general admission tickets for a Reno Aces baseball game One family paid

$45 for 5 adults and 2 children. The other family Jgiud $39 f(ﬁQ adylts and 5 chﬂ en 1156\ 3s, system to

represent the problem and solve, &t &= price€ C,-— pric ?" 90\"“1\35:'
i

2(sa+2c=45) ~\0a; . —\2?3 sa+2(5):45 %
FEC 7+ 9N = = =0 + |0 =]
5 (24 ) . 2lc = \05 oa 5a.= 35
b. The admission fee at a small fair is $1.50 for children and $4.00 for adults. On a certain day, 2200 people
enter the fair and $5050 is collected. How many children and how many adults attended?

Ur a = #of adults
\l'\' Q= Tﬁ'o:"é\.\\d—\*w "‘DD adwl'b &.ﬂ

LS0Q + 4.00a = 5050 \%
Ct 4= 2200

e
e ea.

C=-a+2200
1,50 (-at 27,00) t4o = 606077

-\S00 3300 r4a = = =

Ok ’toO




Solve a system of inequalities by graphing.

yp<2x—-3
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c. Graph the ﬁ6110wing system of inequalities.
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Name two points that are possible solutions to the
above system?

d. Write a system of inequalities to model the graph
below..
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Extra practice.
Line A and Line B represent a system. What is the

solution? Uz -5Sx+2.
LineiA Z  LineR
b
-1 7
y=-5x+2 %‘ e
-5
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Write the system of equations represented by the
following graph.
7}

hotn en

5
"

Y
X
A
>

g ]

'Ihpini-l'e_ Solutiens
* Yoy are the SaMR Lne



